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Question: Why is it easier to discriminate a base pair in B form DNA by contacting it through t he major groove than through the minor groove?

Answer: 
Discrimination means being able to tell one base pair apart from the other three; for example, A-T from G-C, T-A and C-G

First, look at the numbering of purines and pyrimidines. Remember where you start and which way you go. For pyrimidines, you start with the nitrogen 1 which is linked to the dexoyribise (C-1) and go clockwise. With purines, you start with the nitrogen at the left top corner (the way the ring is drawn in the diagram here, and you go counterclockwise (1-6). For the five membered ring on the right you start at the top right corner nitrogen (N7), and go clockwise to nitrogen at the bottom (N9), which is linked to the deoxyribose (C-1).
Now look at the A-T and G-C base pairs drawn in the top diagram showing their hydrogen bonded states in B form DNA. In the diagram, when you look at the base pairs from the bottom side you are viewing the minor groove. Remember the rule: you can see the C1-N glycosidic bonds extending towards the helix axis to form an acute angle. When you look at the base pairs from the opposite side (top in the diagram), you are viewing the major groove. 
To make things easier you may want to number the atoms in the base pairs according to the rule we described above. 
You can see the following atoms or groups of Adenine and Thymine in the major groove: 

Adenine: N7; the amino group on C6. Thymine: the carbonyl oxygen at C4; the methyl group at C5. All of these groups are good for base pair recognition: Nitrogen, oxygen and amino groups by hydrogen bonding, the methyl group by hydrophobic/Van der Waals contact.
For the A-T pair, you can see the following groups from the minor groove side:

Adenine: N3. Thymine: the carbonyl oxygen at C2
Similarly for the G-C pair, the important contact positions in the major groove are;

Guanine: N7; the carbonyl oxygen at C6; Cytosine: the amino group at C4.
For this base pair, the minor groove side reveals:

Guanine: the amino group at C2; N3. Cytosine:  the carbonyl oxygen at C2

[You should at least know that for purines, N7 and the substituent group at C6 are disposed in the major groove; N3 and the substituent at C2 (the amino group of Guanine) are located in the minor grove). For pyrimidines, the substituent at C4 and the methyl group at C5 (for thymine) are positioned in the major groove. The carbonyl oxygen at C2 is present in the minor groove.]
You can already see that there are more contact points (and hence more discrimination possible) from the major groove side.

You may do the following exercise. Copy the A-T and G-C base pairs on to a transparent sheet. Flip these and make another copy on a second transparent sheet. You have now the T-A and G-C base pairs as well. You can make rectangular cutouts of all four base pairs. You can place the GC base pair over the A-T bp by overlaying the purine and pyrimidine positions perfectly. You will immediately see how the contact points in the major and minor grooves are positioned differently. Now place the T-A pair over and adjust the positions as best as you can. There is a little play here because the C1 to C1 distance is slightly smaller 10.8Ǻ for G-C (or C-G) pair compared to 11.1Ǻ for A-T (or T-A) pair (see Figure above). But this is small enough to be not too complicated. And finally you can place the C-G pair over the T-A pair.
You will see how the contact points line up for each of the base pairs in the major and minor groove sides. There are more distinct hydrogen bond donor and acceptor possibilities (with additional discrimination trough the C5 methyl group of thymine in the major groove side compared to the minor groove side.

[When you overlap the base pairs, try to get the C1 (ribose)-N glycosidic bonds aligned, and then get the bases to overlap.] 

